NAME KLASSE DATUM @
Wandlen Sie efolgende Groflen in die entsprechenden Einheifen um:

8,52mm = m = 32,50kg = T

=

C 6,25m = cm z 685g = kg
0 z

762cm = mm 9| 295 5N = kN
C 2
" 8,35cm = m 2 20,5kg = N
19,822 = dn? gMSkg/me = kg/cn?
0 c
6 2825cm? = m2 % 2500T/m2 2 kN/cm?
0 0
| 4823mm? = cm? 0l BkN/cm? = N/mm?
c; 21,9m3 = Liter 2| 0,75kg/dm? = kg/m3
0 O
El 5 74l iter = m®  {0,95T/nd = g/cmd
= (O]
0 s
> 71650cm3 = m3 8l 32kN/m? = kg/dm3
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NAME KLASSE DATUM
Wandlen Sie efolgende Groflen in die entsprechenden Einheifen um:

0,026m = mm = 80530kg = T

=

c 6.50m = m £ 326400g = kg
0 z

1762¢cm = mm 9| 265kN = N
C 2
ﬁ 83,5m = cm é 0,65kN 2 kg
_12,85n° = o2 gzsm/me = kg/n?
0 C
6 4820dm? = m2 % B50T/m? = N/cm?
0 0
| 58230mm? = cm? 0l S0kN/cm? = N/mm?
c) 7m® = cmd 2/ 1,8kg/dm? = kg/m3
0 S
% 257 4L iter = m3 i 0,095T/m3 = g/dm?
0 <
>l 187500mm3 = dn®  &l85kg/m® = N/dm?3
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